Quantitation Report (QT Reviewed)

Data Path : Z:\SVOASRV\HPCHEM1I\BNA M\DATA\BMO032019\
Data File : BM019269.D
Aca On : 20 Mar 2019 19:33 Instrument :
Operator : JU/SJ EFA%Q el

- _ lentosampleld :
3?22Ie - K1987-02 20190144-COMPOSITE-C
ALS Vial : 9 Sample Multiplier: 1

Quant Time: Mar 21 17:14:49 2019

Quant Method : Z:\SVOASRV\HPCHEM1\BNA M\METHODS\8270-BM031119.M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION

OLast Update : Thu Mar 21 17:06:23 2019

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) 1.4-Dichlorobenzene-d4 7.63 152 171366 20.00 nag 0.00
21) Naphthalene-d8 10.42 136 729129 20.00 ng 0.00
39) Acenaphthene-d10 14.29 164 486917 20.00 ng 0.00
64) Phenanthrene-d10 17.04 188 1110908 20.00 nqg 0.00
76) Chrysene-di2 21.24 240 950298 20.00 ng 0.00
87) Perylene-di12 23.47 264 836367 20.00 ng 0.00
Svstem Monitorina Compounds
5) 2-Fluorophenol 5.23 112 1543373 145.85 na 0.00
7) Phenol-d6 6.82 99 2312135 149.38 na 0.00
23) Nitrobenzene-d5 8.80 82 1346879 87.32 na 0.00
42) 2.4.6-Tribromophenol 15.79 330 1086015 151.06 na 0.00
45) 2-Fluorobiphenvl 12.90 172 3009986 80.41 na 0.00
79) Terphenyl-dl4 19.69 244 4652875 97.20 ng 0.00
Target Compounds Qvalue
10) Phenol 6.85 94 67845 4.067 ng 95
50) Dimethylphthalate 13.76 163 197994 4.753 ng 100

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Abundance TIC: BM019269.D
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